SORAAM R MSE

BES INFE A R EFL5H 80m 16.5 16 7
BHEF INGEAE £k w5 80m 16.4 14 11
RN INEE M HEL 80m 18.6 14 6
BEF INE A h2 LE 80m 15.8 16 19
BES INE A h2 bhEL 80m 16.3 15 8
= INE A h2 bavy 80m 15 12 22
[ST/N INGEAE n2 133L 80m 14.6 10 16
AN INEE h2 w3 80m 15.7 15 5
= INE A h2 Vit 80m 15.5 14 9
BES INGEAE N3 Y5071+ 100m 18.8 13 25
BEF INGEAE N3 L&51= 100m 18.8 12 16
BHEF INGE A N3 5% 100m 18 13 20
BEF INEHE I3 HoL 100m 171 12 17
BEF INE A N3 VT 100m 18.3 13 14
BES INE A N4 501655 100m 17.9 12 25
BEF EPER ha ZFE 100m 18.6 11 10
BHEF EPER \Y HOE 100m 18.1 11 15
AN INEE Iha &51= 100m 16.6 12 17
= INE A N4 Heh 100m 16.6 11 13
=i INFE A \vE Ho1= 100m 15.3 10 30
= INGEAE ha HEV 100m 20.2 13 11
BEF INEHE INYS] hAa 110m 20.3 14 31
BEF INEHE IS F=Y 110m 18 11 26
BES B NS Lwh 110m 20.1 12 37
BES FERE N5 HyL 110m 17.4 11 26
BEF EPYER NG 1=<& 110m 18 10 30
BEF EMER INYS] 65 110m 19.9 13 26
BEF FER N} Fvh 110m 17.3 11 16
BEF EFER NS HHL 110m 17.9 11 23
[T/ = NG 1x3& 110m 15.5 10 32
=i TAIN NG H50D 110m 15.6 9 22
BEF TR B L) 130m 17.9 31
= TREE i (B X:aA) 130m 16.4 20
= TR th2 &bz 130m 16.2 25
[T TR th2 i3 130m 20.7 10 25
[ST/N TFARE 3 HH 130m 20.1 10 20
RigE R MAEZUR 100m 14.8 10 37
REE R HEE/uS 100m 15.4 9 52
RiEE R PHECH/UN 100m 13.9 9 34
RiEE R e -TATAY 100m 19.3 10 30
REH 5 MblzLR 100m 13.2 9 37
RigE R (=R F FAVAY 100m 14.5 11 28
R &7 ALmTT 100m 23.5 14 18
REE & LLhhzv 100m 18.1 11 40
R B8 HYEhvT 100m 20.6 12 16
R B HDTT 100m 17.3 11 10
Rz & MAEETT 100m 20.6 12 22




